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1. Which of the following statements is incorrect? (A) n! = O (n") (B) n* + 2n* + 1 = O (n*) (C)
logn® = O (n%) (D) n’logn + logn = O (n?logn) (E) none of the above

2. Which of the following is NOT an application protocol in OSI? (A) HTTP (B) FTP (C) POP3 (D)
TCP (E) none of the above

3. Which of the following methods is suitable for external sorting? (A) Insertion Sort (B) Heap Sort
(C) Quick Sort (D) Polyphase Merge (E) none of the above

4.  Consider the following recursive formula:
f(n) =f(n-1) * n;
f(1) =1,
where n is a positive integer. What result does f (100) get? (A) (1+100)*100/2 (B) 1 +2 + 3 + ...
+100 (C) 100! (D) 1007 (E) none of the above

5. Assume the burst time for Job1~Job2~Job3~Job4 is 6~2~4 and 2, respectively. If CPU scheduling
uses Shortest-Job-First algorithm, then average turnaround time is (A) 10 (B) 7 (C) 14 (D) 8 (E)
none of the above

6. Which of the following is a client-side scripting technology? (A) ASP.NET (B) Perl (C) PHP (D)
JSP (E) none of the above

7.  What is the process of finding patterns and relationships among data? (A) Data encapsulation (B)

Data encryption (C) Data hiding (D) Data mining (E) none of the above

8. Which of the following is NOT an image file format? (A) WMA (B) PNG (C) JPEG (D) BMP (E)
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

none of the above

What is the equivalent hexadecimal representation for the binary number 11001110107 (A) 33A
(B) 338 (C) 33E (D) 330 (E) none of the above

Considering the following Java program, what result will be printed?

inti, j =15;

i=j%2==175++

System.out.printin(“i=" + i + “J=" +]);

(A)i=5,j=16(B)i=15,j=16(C)i=5,j=15(D) i =15, j = 15 (E) none of the above
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int n=10;

printf(*%d\n”, ++n + 3);
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1. Suppose the head of a moving head disk with 200 tracks, numbered 0 to 199, is currently serving a

request at track 55. The queue of requests is kept in the FIFO order: 98, 183, 37, 122, 14, 124, 65
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and 67. What is the total head movement (number of tracks) to satisfy these requests for the SSTF

(Shortest Seek Time First) disk-scheduling algorithm?

2. The following is the frequency table:

Character Frequency
A 5
B 10
C 25
D 15
E 20

What are the Huffman codes of the message CDB?
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public static void main(String[] args)
{ for(int i=2; i<=20; i++)
{ for(int j=2; j<i; j++)
if(1%j==0)
break;
else if(j==i-1)
System.out.print(i + " ");}}
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